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Instructions:

1. Atteﬁlpt all questions.
2. Figures to the right indicate full marks.

Q. No. |. Answer in two sentences (any six): [2x6=12marks ]

a) Fallacy of undistributed middle in categorical syllogism

b) State the symbolic expression the Rule of Inference: Disjunctive Argument

c) Identify the Rule of Replacement and symbolize it:
“The Indian society is changing and the laws are changing to keep pace with the
changes is equivalent to the laws are changing to keep pace with the changes and
the Indian society is changing’

d) State the symbolic expression of Simple Destructive Dilemma.

e} ‘Every member of the team played well, therefore, the Indian team played well in
the match’ Identify the non -formal fallacy.

f) Define sufficient condition as per scientific notion of cause.

g) Give an example of expressive use of language.

h) Identify the argument and.symbolize it. "Either you agree to the terms of contract
or you may specific the condition in the contract, you have not specified the
condition in the contract, so you agree to the terms of contract.”

Q.NO. 2 Write short notes (any two): [6x2=12marks]
a) Descriptive hypothesis
b} Direct and indirect verification
c) Any three impediments to reasoning
d) Respondeat Superior

Q.no 3 Answer (any two): [6x2 =12 marks]

a) Reduce directly the following moods:
a) CESARE  (b) FERISON
b) Identify the non-formal fallacy and give reasons for your answer:
(i)The lawyer says to the witness, ‘Beware of what you say in the court against
that person, he will ensure that you are behind bars.’
(i1)If you are determined, happy and have positive mind set you can earn
rupees seventy-five thousand per month.
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¢) Test the validity of the following categorical syllogism. Identify the Figure
Give reasons:
()All politicians are elected by citizens and all politicians are those serve the
nation, so all people who serve the nation are elected by citizens.
(ii) Some countries are open to refugees and some countries are not open to
refugees. So, refugees must choose a-country. '

Q.no. 4. Answer Q.no.4d and any one from 4a, 4b and 4c: [2x 12=24 marks]|

a) Explain the popular notion of cause with the help of an example.
b) Explain the stages of hypothetico- deductive method with illustrations.
¢) Any three fallacy of Ignoratio elenchi.
d) Construct a complex constructive dilemma, rebut and refute it:
‘If you help a person in need, then friends will appreciate you and if you
refuse to help others in need, then friends will leave you'

\
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(2 Hours) - - [Total marks: 60]

: Please cheek whetllcr'}?ou have got the right question paper.
N.B.: 1) . All questions are compulsory.-
2)  Figures to the right indicate full marks.

Q.1 Answer in one or fwo sentences (Any 6): - - {2x6=12)
“What is the function of middle term in a categorical syllogism?

What is the position of the middle term in Figure IV of a categorical syllogism?

Give the symbolic expression of Commutative Laws. : '

Give an example of pure hypothetical syllogism.

Give the symbolic expression of Modus Tollens.

What is plurality of causes?

Define non-formal fallacy.

What is verification?

Give an example of fallacy of equivocation.

Reduce directly FESTINO.

e FmEme o T e

Q. 2 Write short notes on (Any 2): ; (6x 2=12)
a. Kinds of Disjunctive argument :
b. Respondeat Superior =~
¢. The fallacy of composition and division.

d. Bob Brown
Q. 3 Answer any two of the followings (Any 2): {6x2=12)
“'a. Test the validity of the following categorical syllogism.- Identify the figure. Give
reasons.

1. Allartifacts are expensive: Some expensive things are silver ornaments.
Therefore, some silver ornaments are artifacts. : ;

2. All animals are not rational. Some animals-are short-lived. Therefore, some.'

. short -lived beings are not rational. ;

1. All crimes are punishable and some actions are punishable. So, some actions
are not crimes. - ¥ :

b. Write the following arguments in strict syllogistic form. Identify the figure. G'u'ré
reasons.

£67 40 §F 100 Sopn

1. Herbs are used as medicine and herbs are expensive, therefore, all medicines

: are expensive. i ;
2. All green vegetables are useful for health. Spinach-is green vegetable.
Therefore, Spinach is useful for health. - =3

¢, Identify the fallacy. Give reasons.

1. If passengers in a car do.not put on the seat belt, then they have to pay fine.
9. Mr. X will do well in-examinations as he used his lucky shirt and lucky pen.
3, "Did you stop cheating your customers? : - ]

4. Reduce indirectly: CESARE.
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£ Q.4 Question no 4 d is compulsory. Answer any_(one) from qﬁcsﬁun no. 4a, 4b and d¢

Bo o

: (12x2=24) -
Explain the stages of hypothetic deductive method. _

Explain the popular notion of cause.

State and explain the rule of corollaries of categorical syllogism

Construct complex constructive dilemmas, rebut, and refute. _
If the Minister of agriculture is-a farmer, then export of agricultural crops will get™

‘concession’ in export duties and if Minister of Agriculture is Industrialist, then

+| Agriculture sector will face many problems to export agricultural produce.
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Please check whether you have got the right question paper.

N.B.: 1) All questions:are compulsory.
2) Figures to the right indicate full marks.
Q.1:- Answer the following in one or two sentences (any six):- (12)

Q.2

Q.3:

a.

a. State Aristotle’s Dictum and its meaning.

b. State the Rule of Material fmplication. Give Symbolic form.
c. Give the Symbolic form of rule of De Morgan’s Law.
Define the fallacy of Equivocation.

State any two impediments to good reasoning.

What is the meaning of legal maxim, ‘Vis Major'?

State the Mill’s view of cause.

Define direct reduction.

Define Hypothesis.

j. Whatis Crucial experiment?

d
e
f.
E
h
i

- Write short notes on any twa: (12)
a. Modus Ponens.
b. Volunti-non-fit-injuria.
c. Fallacy of Accident and Converse Accident.
d. Bob Brown's Case.

- Answer the following.(Any two): ; (12)

Test the validity of the following Categorical syllogism, Reduce it to its proper logical -

form. )

i) Beggars, who have no property, can receive no injustice because justice is nothing but
violation of property.

ii) The formal study of Logic is useless, for many persons who have never studied Logic
can reason Shrewdly and accurately.

b. Reduce the following and construct a strict Categorical Syllogism.
i) None but the wise are good, and none but the good are happy, therefore, none but the
wise are happy.
i) Learned men Sometimes become mad, but as he is not learned, there is no danger to
his sanity.
c. Reduce indirectly BOCARDO.
d. Identify the following, Give Reasons:
i) Every man desires his own happiness.
Therefore, all men desire universal happiness.
ii) You had been leading an immoral life.
How can you become a preacher?
iii) Untouchability must be removed because Gandhi says so.
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Q.4:- Answer question no 4(d) and any one from (a), (b) and (c):

State and explain the rules of structure of categorical Syllogism.
What is Hypothesis? Elaborate on the characteristics of a hypothesis.
Explain the significance of scientific notion of cause in Law.
Construct complex constructive dilemma, Rebut and Refute it: -

If there is goodness in the heart, there will be peace, if there is hatred in the heart,
there will be lack of happiness. ' :

pp TP
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